Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY

Summer Examination-2019

Subject Name: Power Plant Engineering
Subject Code: 2TEO6PPE1 Branch: Diploma (Mechanical)
Semester: 6 Date: 16/04/2019 Time: 10:30 To 01:30 Marks: 70

Instructions:
(1) Use of Programmable calculator & any other electronic instrument is prohibited.
(2) Instructions written on main answer book are strictly to be obeyed.
(3) Draw neat diagrams and figures (if necessary) at right places.
(4) Assume suitable data if needed.

Q-1 Attempt the following questions (14)
1)  The alternator is used in power plants which convert....... 01
1) Electrical Energy into Mechanical Energy
2) Electrical energy into Solar Energy
3) Mechanical Energy into Electrical Energy
4) Mechanical Energy into Nuclear Energy
2)  Space required of a steam power station........ 01
1) More than diesel power station
2) Equal to diesel power station
3) Less than diesel power station
4) None of the above

3)  Economiser is used to........ 01
1) Heat air 3) Heat flue gases
2) Heat feed water 4) All of the above

4)  Inthermal power plant, turbine is placed 01
1) before boiler 3) After genrator
2) in between boiler and generator 4) any of the above

5)  The following is not a component of Thermal power plant 01
1) Condensor 2) Cooling tower 3) Turbine 4) Fuel tank

6) Lamont boiler is which type boiler 01
1) Firetube  2) water tube 3) both 4) none of these

7)  The following is (are) ash handling system(s) 01
1) Hydraulic system 3) Steam jet system
2) Pneumatic system 4) All of the above

8)  Which of the following is not used as moderator? 01
1) Water 2) heavy water 3) graphite 4) boron

9)  The function of coolant is to 01
1) extract heat from reactor 3) control the reaction
2) slow down neutrons 4) reflect the neutrins

10) Moderator is not required in 01
1) Pressurized water reactor 3) Boiling water reactor
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11)

12)

13)

14)

2) Gas cooled reactor 4) Breeder reactor
What is the steam critical pressure

1) 200 bar  2)221.2 bar 3) 222.2 bar 4) 224 bar
The function of a solar collector is of converting solar energy into

1) Radiations 3) thermal energy

2) Electrical energy directions 4) all of these
Which variety of coal has lowest calorific value?

1) Steam coal 2) bituminous coal 3) lignite 4) Anthracite
Solar cells made of

1) Silicon 2) Germanium 3) silver 4) aluminium

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4
Q-5

Q-7

Q-8

a)
b)
c)

(V)

()

(3)

Explain working of Condenser cooling water circuit with figure.

Explain tidal power plant in detail

Explain peat head power plant and Nursery power plant.

Explain construction and working of Benson boiler with figure.

Explain Construction and Working of central pulverized fuel supply system with
figure

Explain pressurized water reactor (P.W.R) with figure.

Write Advantages and disadvantages of Diesel power plant.

Draw external lubricating system of diesel power plant & explain its working.
Define Fertile material, fissionable materials, breeding and enrichment of fuel with
example.

Sketch the diagram of hydro power plant and indicate name of all elements.

List various methods of improving performance of gas turbine & explain any one.
Explain Working of solar thermal power plant with figure.

State various function of exhaust gas system of diesel power plant.

Write the advantages of hydro power plant.

what is super charging and write their advantages

Explain working of geothermal power plant with example.

List of various essential component of gas turbine and explain combustion chamber

with sketch.
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